Secondary Math 2 Unit 10 Review Name: Period:
MAIN IDEAS
1. What trig ratio equals %? 2. Label the names of the sides from the
= perspective of 6.
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3. Find the value of the trig ratios:

4. Find the value of the trig ratios:
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5. What trig ratio is the reciprocal of: 6. Find the value of the trig ratio:
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13. Solve for x:

14. Solve for x:
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Application of
Trigonometry
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19. Gabe stands 23 feet away from a soccer goal. The upper cross-bar of the goal is 8 feet above the
ground. At what angle of elevation must William kick the ball in order to hit the upper cross-bar?

hit the ground?
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20. You look through a pair of binoculars at a 46° angle of elevation at a drone. The drone’s battery
fails and falls to the ground. You run 250 feet to get to the drone. How far did the drone fall before it




